H & 0l & AHS B Ml A

20233 = =0ilah LS| HAE D

A HAYE
HH: (ZLE SN
Sl (IEDSAM 2 29X (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HAZ 2 64,101,025 49,226,124 14,874,901
= 9,420,000
[ 1,670,000
= 7,526,120
Al 45,484,905
Hsus SEX& 64,072,329 49,194,260 14,878,069
= 9,420,000
[ 1,670,000
= 7,526,120
Al 45,456,209
HsLSAE & 28X 64,072,329 49,194,260 14,878,069
= 9,420,000
= 1,670,000
= 7,526,120
Al 45,456,209
NaHA s28 A& 135,000 150,000 15,000
== 40,500
Al 94,500
401 A2 HIZL R 0HbI 135,000 150,000 15,000
[ 40,500
Al 94,500
01 Al&HI 135,000 150,000 15,000
OM&HA s2& A& 135,000
= 40,500
Al 94,500
I ASHeMAS L (SSEUY BAZEOT EX1)( 177,118 219,700 N42,582
HEAL)
s 27,118
Al 150,000
401 Al HIZL R 0HbI 177,118 219,700 N42,582
< 27,118
Al 150,000
01 Al&HI 177,118 219,700 NA2,582
OSZZU oot X 177,118
< 27,118
Al 150,000
HASZE W EEASHOT EXI(= 00 15,000 0 15,000
= 15,000
401 AlEHIZL S0 15,000 0 15,000
= 15,000
01 AlZ2H| 15,000 0 15,000
OotAs2d W EHAREHOIT &4 15,000
== 15,000
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o HzuE SEA3
?: HsusSAld & 23X

SA - ZE - BR(30) - HRA - B of v e HIDE2
HAsSZE e LEOXY 6.675 17,800 A11,125
= 2,002
Al 4,673
401 AIEHIX S0 6.675 17,800 A11,125
= 2,002
Al 4,673
01 A28l 6,675 17,800 A11,125
OoHAsZdd HeE 6,675
s 2,002
Al 4,673
S SIXK L SLE 312,400 297,200 15,200
201 el 252,400 237,200 15,200
01 At2telt] 2,400 7,200 24,800
O;HE 3IXHK - & 2,400
2 s5=34l 250,000 230,000 20,000
O;NHE 3IXHA - & 250,000
401 Al HIZ S OHbI 60,000 60,000
01 A28l 60,000 60,000
OHE 3K - 5 60,000
AUHA 528 23 € 440,000 360,000 80,000
401 A2 HIRL 201 440,000 360,000 80,000
01 Al&H| 440,000 360,000 80,000
OAUHA s2E 4 410,000
OoltsHA s2% & 30,000
SEH AL 23 1,800 1,800
203 HF=AY] 1,800 1,800
03 A=A PR FA| 1,800 1,800
OSEHQ AlLHA 2 1,800
SelHOl AILHHA &K 200,000 260,000 60,000
201 2= 200,000 260,000 60,000
01 At22t2l] 200,000 260,000 260,000
OAlUH A =& IHE 180,000
OAILIHA WSIHtE 20,000
ARSI HARARE] 28 20,000 25,000 /5,000
201 er2 3| 20,000 25,000 /5,000
01 AtR2telHl 20,000 25,000 /5,000
OAIRIo] HARIEE 2 20,000
HASSANE HE X2 31,620,000 28,320,000 3,300,000
== 2,897,000
Al 28,723,000
307 212+01& 31,620,000 28,320,000 3,300,000

2,897,000
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el EnsSAd & 29X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 28,723,000
0 BE+HHEXS 31,620,000 28,320,000 3,300,000
OBAZSAIE MEXIHA 5,794,000
s 2,897,000
Al 2,897,000
OAlUHA HXted 2 WS X 25,826,000
AU A S =889 80,000 80,000
207 ARl 80,000 80,000
01 A1ESH| 80,000 80,000
OAUHA B 8BS 80,000
AMUHA REEs &42H 10,000,000 6,600,000 3,400,000
307 @120l & 10,000,000 6,600,000 3,400,000
0 2+=EHEXS 10,000,000 6,600,000 3,400,000
OAlLHA REEs &42H 10,000,000
WS NaHA 2 735,000 650,000 85,000
< 220,500
Al 514,500
307 lztol & 735,000 650,000 85,000
= 220,500
Al 514,500
09 2s-gAHAELES 735,000 650,000 85,000
OWSAX MaHA 2 735,000
= 220,500
Al 514,500
MatA EAEX 2,760,000 1,752,000 1,008,000
= 1,840,000
= 920,000
402 2I2E X201 & 2,760,000 1,242,000 1,518,000
= 1,840,000
=S 920,000
02 QI X2 AL EE(OIHTHE) 2,760,000 1,242,000 1,518,000
O MAHA ZEX 2,760,000
= 1,840,000
< 920,000
AAUHA EJ2X 10,800,000 4,945,000 5,855,000
= 7,560,000
= 3,240,000
402 212+ X201 & 10,800,000 4,945,000 5,855,000
= 7,560,000
= 3,240,000
02 QI THZ2AILEE (01X THE) 10,800,000 4,945,000 5,855,000
OF=AAUHA EIEX 10,800,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 7,560,000
=S 3,240,000
AMUHA ==Xt O - HIXE THE X2 200,000 100,000 100,000
307 el2to| & 200,000 100,000 100,000
B 2=gHEXS 200,000 100,000 100,000
OAUHA ==Xt Of - HXH HE X2 200,000
== - 2F AlUHA 2sH2s HE X 1,000,000 1,000,000
307 212+01& 1,000,000 1,000,000
09 2FHHEXS 1,000,000 1,000,000
OXF - 2F AMUHA 2323 WEXIE 1,000,000
HZ=o LIt A 365AHH 23,000 24,500 21,500
201 el 15,000 15,500 A500
01 At2telt] 15,000 15,500 A500
OA2IZLIEHE 2 5,300
OTEIIAL HE & HFE 3,700
OAlUHA TEIIAS] & 6,000
301 22N = 8,000 9,000 1,000
14 J|Et2a s 8,000 9,000 21,000
ORLIHRE AdI24 8,000
LENSIE OtLelX XA 40,000 25,600 14,400
= 20,000
Al 20,000
308 AXIMSOIA 40,000 25,600 14,400
= 20,000
Al 20,000
11 S| 2S0UeZB A AIE 40,000 25,600 14,400
OYEWEINE OtelXl XA 40,000
= 20,000
Al 20,000
AMUHA S3240/W0| 7= 109,536 124,860 15,324
201 =3 109,536 124,860 15,324
2 S5=2g4l 109,536 124,860 15,324
OAILIHA SE2A0(TH0l = 109,536
NLUsSWE JI=HE =8 ES 200,000 200,000
207 ARl 200,000 200,000
01 H1E4H| 200,000 200,000
oXNZUsuE JIZAHE =8 9 200,000
338 BA(H=Z2 HA) 3,184,000 2,140,000 1,044,000
[ 820,000
= 164,000
Al 2,200,000
38 HES 3,184,000 1,640,000 1,544,000
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